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QUESTION 1

What is the expected output of the following code? 

def foo(x,y):

 return y(x) + (x+1) print (Foo(1,lambda x: x*x)) 

A. 3 

B. 5 

C. 4 

D. an exception is raised 

Correct Answer: A 

 

 

QUESTION 2

Which of the following lambda function definitions are correct? (Select two answers) 

A. lambda X : None 

B. lambda : 3,1415 

C. lambda x : def fun(x): return x 

D. lambda lambda: lambda * lambda 

Correct Answer: AB 

 

QUESTION 3

What would you use instead of XXX if you want to check whether a certain ` key\\' exists in a dictionary called diet?
(Select two answers) 

II if XXX: 

print("Key exists") 

A. \\'key\\' in diet 

B. diet[\\'key\\'] != None 

C. diet.exists(\\'key\\') 

D. \\'key\\' in diet.keys() 
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Correct Answer: BD 

 

QUESTION 4

What is the expected behavior of the following code? 

A. It outputs 123 

B. it raises an exception 

C. it outputs 321 

D. it outputs 6 

Correct Answer: D 

 

QUESTION 5

Which of the following expressions evaluate to True? (Select two answers) 

A. 121 +1 == int (\\'1\\' + 2 * \\'2\\') 

B. float (\\'3.14\\') == str(\\'3.\\'+\\'14\\') 

C. \\'xyz\\'.lower() \\'XY\\' 

D. \\'8\\' + \\'8\\' !=2 * \\'8\\' 

Correct Answer: AC 
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